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CE-203 : Advanced Accounting & Auditing  

(Cost Accounting – 2) 

 
Time :  3 Hours]  [Max. Marks : 70 

ÍÛæ̃ Û¶ ÛÛ :  (1) þù Áéõ ï õ ¸ÛóÊ¶Û ºõÁõÜ›÷ýÛÛ©Û ™öé. 

   (2) ›÷¾Û¨Ûà ¼ÛÛ›ä÷¶ÛÛ …Û×ïõ¦øÛ ¸ÛóÊ¶ÛÛé¶ÛÛ •Ûä̈ Û½ÛÛÁõ þùÉÛÛÙÈÛé ™öé. 

   (3) ›÷ÄõÁõà •Û¨Û©ÛÁõà ©Û¾ÛÛÁõÛ ›÷ÈÛÛ¼Û¶ÛÛ ½ÛÛ•ÛÄõ¸Ûé þùÉÛÛÙÈÛÛé. 
 

1. ¶ÛàÅÛ ÜÅÛÜ¾Û¤éø¦ø ÈÛÌÛÙ 2015 þùÁõÜ¾ÛýÛÛ¶Û ¸ÛÛé©ÛÛ¶Ûà 50% Š©¸ÛÛþù¶Û ÉÛÜî©Û…é 1000 …éïõ¾Û ¼Û¶ÛÛÈÛà¶Ûé ÈÛé̃ ýÛÛ×. 
©ÛÛÁõà”Û 31-12-15¶ÛÛ ÁõÛé›÷ ¸ÛæÁõÛ ¬Û©ÛÛ ÈÛÌÛÙ¶Ûà Š©¸ÛÛþù¶Û ¸Û¦ø©ÛÁõ …×•Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé ¾Ûä›÷¼Û Ðü©Ûà : 14  

ÜÈÛ• Û© Û   Áõ ï õ ¾Û (`̀̀̀) 

¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û 5,00,000 

¸Ûó©ýÛ“Û ¾Û›æ÷Áõà 3,00,000 

¸Ûó©ýÛ“Û ”Û˜ÛÛÙ 1,00,000 

ïõÛÁõ”ÛÛ¶ÛÛ ¸ÛÁõÛé“Û ”Û˜ÛÛÙ (50% ˜ÛÜÅÛ©Û) 2,00,000 

…ÛñÜºõÍÛ ¸ÛÁõÛé“Û ”Û˜ÛÛÙ (ÜÍ¬ÛÁõ) 1,50,000 

ÈÛé̃ ÛÛ¨Û-ÜÈÛ©ÛÁõ¨Û ¸ÛÁõÛé“Û ”Û˜ÛÛÙ (40% ˜ÛÜÅÛ©Û) 1,00,000 

ÈÛé̃ ÛÛ¨Û 16,20,000 

 ÈÛÌÛÙ 2016¶ÛÛ ÈÛÌÛÙ ¾ÛÛ¤éø¶ÛÛé …×þùÛ›÷ ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé Ðü©ÛÛé : 

 (1) Š©¸ÛÛþù¶Û ¸ÛäÁéõ¸ÛäÁõà “Û¾Û©ÛÛ…é ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛÉÛé ›÷é¾ÛÛ×¬Ûà 80% …éïõ¾ÛÛé¶Ûä× ÈÛé̃ ÛÛ¨Û ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛÉÛé. 

 (2) …éïõ¾Ûþùà¥ø ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û …¶Ûé ¾Û›æ÷Áõà¶ÛÛ ”Û˜ÛÛÙ …¶Ûä’õ¾Ûé 20% …¶Ûé 10%¬Ûà ÈÛµÛÉÛé. 

 (3) ÜÍ¬ÛÁõ ”Û˜ÛÛÙ ¶Ûà˜Ûé ¾Ûä›÷¼Û ÈÛµÛÉÛé : 
 `̀̀̀ 

ïõÛÁõ”ÛÛ¶ÛÛ 50,000 

…ÛñÜºõÍÛ 40,000 

ÈÛé̃ ÛÛ¨Û ÜÈÛ©ÛÁõ¨Û 20,000 
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 (4) ˜ÛÜÅÛ©Û ÈÛé̃ ÛÛ¨Û ”Û˜ÛÙ …éïõ¾Ûþùà¥ø 25% ¬Ûà ÈÛµÛÉÛé. 

 (5) ¸Û¦ø©ÛÁõ ¸ÛÁõ ¶ÛºõÛ¶ÛÛé þùÁõ •ÛýÛÛ ÈÛÌÛÙ ›÷é¤øÅÛÛé ›÷ ÁõÐéüÉÛé. 

 Š¸ÛÁõÛéî©Û ÜÈÛ•Û©ÛÛé ¸ÛÁõ¬Ûà ˜ÛÛÅÛä ÈÛÌÛÙ¶Ûä× ¸Û¦ø©ÛÁõ ¸ÛªÛïõ …¶Ûé 2016¶Ûä× …×þùÛœ÷©Û ¸Û¦ø©ÛÁõ ¸ÛªÛïõ ©ÛíéýÛÛÁõ ïõÁõÛé. 

…¬ÛÈÛÛ 

 Š©ÍÛÈÛ ÜÅÛÜ¾Û¤éø¦éø ¸ÛÛé©ÛÛ¶Ûä× ¼ÛµÛä ›÷ Š©¸ÛÛþù¶Û ÈÛÌÛÙ 2015 þùÁõÜ¾ÛýÛÛ¶Û ` 7,20,000 ¾ÛÛ× ÈÛé̃ Ûà þùàµÛä. ï×õ¸Û¶Ûà¶Ûà 
¸Ûó¬Û¾Û ÈÛÌÛÙ þùÁõÜ¾ÛýÛÛ¶Û …éïõ¾Ûþùà¥ø ¸Û¦ø©ÛÁõ ¶Ûà˜Ûé ¾Ûä›÷¼Û Ðü©Ûà : 14 

ÜÈÛ• Û© Û  Áõ ï õ ¾Û (`̀̀̀) 

¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û ”Û˜ÛÙ 60 

¾Û›æ÷Áõà ”Û˜ÛÙ 50 

¸Ûó©ýÛ“Û ”Û˜ÛÙ 10 

ïõÛÁõ”ÛÛ¶ÛÛ ÜÉÛÁõÛȩ́ ÛÁõà ”Û˜ÛÛÙ :  

 ÜÍ¬ÛÁõ 8 

 ˜ÛÜÅÛ©Û 7 

…ÛñÜºõÍÛ ÜÉÛÁõÛȩ́ ÛÁõà ”Û˜ÛÛÙ  

 ÜÍ¬ÛÁõ 15 

ÈÛé̃ ÛÛ¨Û ÜÉÛÁõÛȩ́ ÛÁõà ”Û˜ÛÛÙ :  

 ÜÍ¬ÛÁõ 7 

 ˜ÛÜÅÛ©Û 8 

 165 

 + ¶ÛºõÛé 15 

 ÈÛé̃ ÛÛ¨Û 180 

 ï×õ¸Û¶Ûà¶Ûà ÈÛÛÜÌÛÙïõ Š©¸ÛÛþù¶Û ÉÛÜî©Û¶ÛÛ 80% Š©¸ÛÛþù¶Û 2015¾ÛÛ× ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛéÅÛ Ðü©Ûä× : 

 (1) ¼Ûà›Û ÈÛÌÛÙ¶ÛÛ ¸Ûó¬Û¾Û …¦øµÛÛ ½ÛÛ•Û¾ÛÛ× Š©¸ÛÛþù¶Û ÉÛÜî©Û¶ÛÛ 80% …¶Ûé ¼ÛÛïõà¶ÛÛ …¦øµÛÛ ½ÛÛ•Û¾ÛÛ× 
¸ÛäÁéõ¸ÛäÁõà Š©¸ÛÛþù¶Û ÉÛÜî©Û…é Š©¸ÛÛþù¶Û ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛÉÛé. 

 (2) ¼ÛµÛÛ ›÷ ˜ÛÜÅÛ©Û ”Û˜ÛÛÙ¾ÛÛ× 10%¶ÛÛé ÈÛµÛÛÁõÛé ¬ÛÉÛé šýÛÛÁéõ ¼ÛµÛÛ ›÷ ÜÍ¬ÛÁõ ”Û˜ÛÛÙ¾ÛÛ× 20%¶ÛÛé ÈÛµÛÛÁõÛé 
¬ÛÉÛé. 

  ÈÛé̃ ÛÛ¨Û Ýïõ¾Û©Û ¸ÛÁõ 33
1

3
% ¶ÛºõÛé ¾ÛéÇÈÛÈÛÛ ¾ÛÛ¤éø …×þùÛœ÷©Û ¸Û¦ø©ÛÁõ¶Ûä× ¸ÛªÛïõ ©ÛíéýÛÛÁõ ïõÁõÛé. 
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2. ©ÛÛÁõà”Û 31-3-2016 ¶ÛÛ ÁõÛé›÷¶Ûä× ¶ÛÈÛÅÛ ÜÅÛÜ¾Û¤éø¦ø¶Ûä× ÈÛȩ́ ÛÛÁõ …¶Ûé ¶ÛºõÛ-¶ÛäïõÍÛÛ¶Û ”ÛÛ©Ûä ¶Ûà˜Ûé ¾Ûä›÷¼Û …Û¸ÛéÅÛä 
™öé :    14 

    Š.                                                                                                                                   ›÷. 

ÜÈÛ• Û© Û Áõ ï õ ¾Û (`̀̀̀) ÜÈÛ• Û© Û  Áõ ï õ ¾Û (`̀̀̀) 

¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û ”Û˜ÛÙ 7,00,000 ÈÛé̃ ÛÛ¨Û (2,000 …éïõ¾Û)  16,26,000 

¸Ûó©ýÛ“Û ¾Û›æ÷Áõà 

ïõÛÁõ”ÛÛ¶ÛÛ ”Û˜ÛÛÙ 

4,80,000 

2,20,000 

…Û”ÛÁõ Í¤øÛñïõ (500 …éïõ¾Û) 
 
˜ÛÛÅÛä ïõÛ¾Û ”ÛÛ©Ûé 

 2,74,000 

ïõÛ˜ÛÛé ¶ÛºõÛé 6,00,000  ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û 50,000  

   ¾Û›æ÷Áõà 20,000  

   ïõÛÁõ”ÛÛ¶ÛÛ ”Û˜ÛÛÙ 30,000 10,00,00 

 20,00,000   20,00,000 

ÈÛÐüàÈÛ¤øà ”Û˜ÛÛÙ 1,40,000 ïõÛ˜ÛÛé ¶ÛºõÛé 

þùÅÛÛÅÛà 

 6,00,000 

40,000 

ÈÛé̃ ÛÛ¨Û ÜÈÛ©ÛÁõ¨Û ”Û˜ÛÛÙ 30,000 ÁõÛéïõÛ¨Û ÈÛé̃ ÛÛ¨Û¶ÛÛé ¶ÛºõÛé   10,000 

¾ÛÛ×¦øà ÈÛÛÇéÅÛ ¸ÛÛ–Û¦øà 8,000    

˜ÛæïõÈÛéÅÛ Ü¦ø¼Ûé¶˜ÛÁõõ ÈýÛÛ›÷ 22,000    

¶ÛºõÛ-¶ÛäïõÍÛÛ¶Û ”ÛÛ©ÛÛ ¾Ûä›÷¼Û¶ÛÛé ¶ÛºõÛé 4,50,000    

 6,50,000   6,50,000 

 ¸Û¦ø©ÛÁõ¶ÛÛ ÜÐüÍÛÛ¼ÛÛé ©Û¸ÛÛÍÛ©ÛÛ ¶Ûà˜Ûé¶Ûà ÜÈÛ•Ûü©ÛÛé ¾ÛÛÅÛä¾Û ¸Û¦øà : 

 (1) ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û …¶Ûé ¾Û›æ÷Áõà ÈÛȩ́ ÛÛÁõ ”ÛÛ©ÛÛ ¾Ûä›÷¼Û ›÷ ÅÛàµÛéÅÛ ™öé. 

 (2) ïõÛÁõ”ÛÛ¶ÛÛ ”Û˜ÛÙ ¸Ûó©ýÛ“Û ¾Û›æ÷Áõà¶ÛÛ 50% ÅÛé”Ûé ¸Û¦ø©ÛÁõ¾ÛÛ× •Û¨ÛéÅÛ ™öé. 

 (3) ÈÛÐüàÈÛ¤øà ”Û˜ÛÛÙ ïõÛÁõ”ÛÛ¶ÛÛ ¸Û¦ø©ÛÁõ¶ÛÛ 10% ÅÛé”Ûé •Û¨ÛÈÛÛ¾ÛÛ× …ÛÈÛéÅÛ ™öé. 

 (4) ÈÛé̃ ÛÛ¨Û ÜÈÛ©ÛÁõ¨Û ”Û˜ÛÛÙ ÈÛé̃ ÛéÅÛ …éïõ¾Ûþùà¥ø ` 10 ÅÛé”Ûé •Û¨ÛéÅÛ ™öé. 

 Š¸ÛÁõÛéî©Û ÜÈÛ•Û©ÛÛé ¸ÛÁõ¬Ûà : 

 (a) ¸Û¦ø©ÛÁõ¶ÛÛé ¶ÛºõÛé-¶ÛäïõÍÛÛ¶Û þùÉÛÛÙÈÛ©Ûä ¸ÛªÛïõ ©ÛíéýÛÛÁõ ïõÁõÛé. 

 (b) ¸Û¦ø©ÛÁõ¶ÛÛé ¶ÛºõÛé …¶Ûé ¶Û.¶Ûä. ”ÛÛ©ÛÛ¶ÛÛé ¶ÛºõÛé ¾ÛéÇÈÛ©Ûä ¾ÛéÇÈÛ¨Ûà ¸ÛªÛïõ ©ÛíéýÛÛÁõ ïõÁõÛé. 

…¬ÛÈÛÛ 
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 (a) ¶ÛÛ¨ÛÛïõàýÛ ÜÐüÍÛÛ¼ÛÛé ¾Ûä›÷¼Û¶ÛÛé ¶ÛºõÛé …¶Ûé ¸Û¦ø©ÛÁõ¶ÛÛ ÜÐüÍÛÛ¼ÛÛé ¾Ûä›÷¼Û¶ÛÛ ¶ÛºõÛ¾ÛÛ× ©ÛºõÛÈÛ©Û¶ÛÛ ïõÛÁõ¨ÛÛé 
›÷¨ÛÛÈÛÛé.  7 

 (b) ºõÁõÐüÛ¶Û ÜÅÛÜ¾Û¤éø¦ø¶ÛÛ× ¶ÛÛ¨ÛÛïõàýÛ ÜÐüÍÛÛ¼ÛÛé ¾Ûä›÷¼Û 4 

 `̀̀̀ 

…ÛñÜºõÍÛ ÜÉÛÁõÛȩ́ ÛÁõà ”Û˜ÛÛÙ 1,65,000 

ÈÛé̃ ÛÛ¨Û ÜÉÛÁõÛȩ́ ÛÁõà ”Û˜ÛÛÙ 72,000 

˜ÛÛé””ÛÛé ¶ÛºõÛé 80,000 

  ¶ÛÛ¨ÛÛïõàýÛ ÜÐüÍÛÛ¼ÛÛé¾ÛÛ× þùÉÛÛÙÈÛéÅÛ …ÛñÜºõÍÛ¶ÛÛ ÜÉÛÁõÛȩ́ ÛÁõà ”Û˜ÛÛÙ ¸Û¦ø©ÛÁõ¶ÛÛ ÜÐüÍÛÛ¼ÛÛé¶Ûà ÍÛÁõ”ÛÛ¾Û¨Ûà¾ÛÛ× 
10% ÈÛµÛä ™öé. šýÛÛÁéõ ÈÛé̃ ÛÛ¨Û ÜÉÛÁõÛȩ́ ÛÁõà ”Û˜ÛÛÙ 10% …Ûé™öÛ ™öé. 

   ¸Û¦ø©ÛÁõ¶ÛÛ ÜÐüÍÛÛ¼ÛÛé ¾Ûä›÷¼Û¶ÛÛé ¶ÛºõÛé ÉÛÛéµÛÛé. 
 (c) ©ÛíéýÛÛÁõ ¾ÛÛÅÛ¶ÛÛ Í¤øÛñïõ …¶Ûé …µÛÙ ©ÛíéýÛÛÁõ ¾ÛÛÅÛ¶ÛÛ Í¤øÛñïõ¶Ûä× ¾ÛæÅýÛÛ×ïõ¶Û ¸Û¦ø©ÛÁõ …¶Ûé ¶ÛÛ¨ÛÛïõàýÛ 

ÜÐüÍÛÛ¼ÛÛé¾ÛÛ× ïéõÈÛà Áõà©Ûé ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛé ™öé. 3 
 

3. “…ÁõÛ¶Û” ¤ÖøÛ¶ÍÛ¸ÛÛé¤Ùø ï×õ¸Û¶Ûà ‘5’ ¤ø¶Û¶Ûà ÉÛÜî©Û µÛÁõÛÈÛ©Ûà …éïõ ¤Öøïõ ÍÛ×¼Û×µÛà ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛäÁõà ¸ÛÛ¦éø ™öé : 14 

¤Öøïõ¶Ûà ¸Û¦ø©ÛÁõ `  20,00,000 

…×þùÛœ÷©Û …ÛýÛäÌýÛ 10 ÈÛÌÛÙ 
½Û×•ÛÛÁõ Ýïõ¾Û©Û 10% 

 Ü¦ø¡öÅÛ …Ûñ̂ ÅÛ ÈÛ•ÛéÁéõ   ` 1,200 ¤Öøà¸Ûþùà¥ø þùÁéõïõ ¼ÛÛ›ä÷…é. 
 ¾ÛÁõÛ¾Û©Û …¶Ûé Ü¶Û½ÛÛÈÛ ”Û˜ÛÙ  ` 5,000 ¸ÛóÜ©Û ¾ÛÛÍÛ 
 ¸Û•ÛÛÁõ : ¦ÖøÛˆÈÛÁõ ` 20,000 ¸ÛóÜ©Û ¾ÛÛÍÛ 
   îÅÛà¶ÛÁ ` 8,000 ¸ÛóÜ©Û ¾ÛÛÍÛ 
   ÜÈÛ¾ÛÛé  ` 1,00,000 ÈÛÛÜÌÛÙïõ 
   ¤éø“Û  ` 50,000 ÈÛÛÜÌÛÙïõ 
   ¸ÛÁõ˜ÛäÁõ¨Û ”Û˜ÛÛÙ ` 18,000 ÈÛÛÜÌÛÙïõ 
 …Û  ¤Öøïõ …éïõ ÉÛÐéüÁõ¬Ûà ¼Ûà›Û ÉÛÐéüÁõ ÈÛ˜˜Ûé þùÁéõïõ ¼ÛÛ›ä÷…é 150 Üïõ¾Ûà¶ÛÛ …×©ÛÁéõ ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û¶Ûä ÈÛÐü¶Û ïõÁéõ 

™öé. ÁõÛé›÷¶ÛÛ 2 ÁõÛŠ¶¦ø ¤Öøà¸Û ÉÛîýÛ ¼Û¶Ûé ™öé. ¤Öøïõ ¾ÛÜÐü¶ÛÛ¶ÛÛ 26 ÜþùÈÛÍÛ þùÛé¦éø ™öé. ›÷©ÛÛ ºéõÁõÛ¾ÛÛ× ¸Ûæ̈ ÛÙ 
“Û¾Û©ÛÛ¶Ûä ¶ÛæÁõ ¾ÛÇé ™öé …¶Ûé ÈÛÇ©ÛÛ ºéõÁõÛ¾ÛÛ× 60% ÅÛé”Ûé ¶ÛæÁõ ¾ÛÇé ™öé. 

  Š¸ÛÁõÛéî©Û ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ¤ø¶Û ÜïõÅÛÛé¾Ûà¤øÁõ þùà¥ø ÍÛéÈÛÛ ¸Û¦ø©ÛÁõ¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé. 
    …¬ÛÈÛÛ 
 (a) “ÐüÛé¤øÅÛ ¸Û¦ø©ÛÁõ” Š¸ÛÁõ ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé. 7 

(b) ÈÛÛÐ ü ¶ Û¶ Ûà ÍÛ×” ý ÛÛ ÈÛÐ ü ¶ Û ÉÛÜî© Û 
 40 5 ¤ø¶Û 
 50 6 ¤ø¶Û 
 60 7 ¤ø¶Û 

  þùÁéõïõ ¤Öøïõ ÜþùÈÛÍÛ¶Ûà ÍÛÁéõÁõÛÉÛ 5 Ü¤Öø¸Û ïõÁéõ ™öé. þùÁéõïõ Ü¤Öø¸Û¾ÛÛ× 10 Üïõ¾Ûà¶Ûä …×©ÛÁõ ïõÛ¸Ûé ™öé. þùÁéõïõ ¤Öøïõ 
©Ûé¶Ûà ÈÛÐü¶Û ÉÛÜî©Û¶ÛÛ 70% ÈÛ›÷¶Û ‹˜Ûïéõ ™öé. ÈÛÛÜÌÛÙïõ ÍÛÁéõÁõÛÉÛ •Û¨Û©ÛÛ 20% ›÷é¤øÅÛà ¤ÖøïõÛé þùÁõÁõÛé›÷ 
Áõà¸ÛéÁõ¾ÛÛ× ÐüÛéýÛ ™öé. 

  Š¸ÛÁõÛéî©Û ÜÈÛ•Û©ÛÛé ¸ÛÁõ¬Ûà …éÜ¸ÛóÅÛ 2016 ¾ÛÛ¤éø ¤ø¶Û Üïõ¾Ûà¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé. 4 
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 (c) ¶Ûà˜Ûé¶ÛÛ Š²Ûé•ÛÛé ¾ÛÛ¤éø ¸Û¦ø©ÛÁõ¶Ûä …éïõ¾Û ›÷̈ ÛÛÈÛÛé : 3 

  (1) …þùÛ¨Ûà •ÛéÍÛ ï×õ¸Û¶Ûà 

  (2) ¾Ûé¹ÅÛÛÈÛÁõ ÐüÛéÍ¸Ûà¤øÅÛ 

  (3) …é¦øÅÛé¼ÍÛ ¬ÛàýÛé¤øÁõ 

 

4. ¥ø‘õÁõ ïõ¶ÍÛ¤ÖøîÉÛ¶Û ï×õ¸Û¶Ûà¶ÛÛ ËÛà ÜÈÛÈÛéïõ ¥ø‘õÁéõ ` 10,00,000¶Ûà Ýïõ¾Û©Û¶ÛÛé …éïõ ïõÁõÛÁõ ©ÛÛ. 1-1-2015¶ÛÛ 
ÁõÛé›÷ ÅÛàµÛÛé. ©Ûé¾Û¨Ûé ¸ÛäÁõà ¸ÛÛ¦éøÅÛ ¶Ûà˜Ûé¶Ûà ÜÈÛ•Û©ÛÛé ¸ÛÁõ©Ûà Ü¼Û¶Û¸Ûó¾ÛÛ¨Ûà©Û ïõÛ¾Û¶Ûà ¸Û¦ø©ÛÁõ¶Ûà •Û¨Û©ÛÁõà ïõýÛÛÙ 
¼ÛÛþù 2/3 ¶ÛºõÛ¶ÛÛ µÛÛéÁõ¨Ûé ¶ÛºõÛ-¶ÛäïõÍÛÛ¶Û ”ÛÛ©Ûé ÅÛˆ ›÷ÈÛÛ¶ÛÛé ¶ÛºõÛé …¶Ûé ˜ÛÛÅÛä ïõÛ¾Û ”ÛÛ©Ûé ÅÛˆ ›÷ÈÛÛ¶ÛÛé 
¶ÛºõÛé ïõÁõÛÁõ ”ÛÛ©Ûä ©ÛíéýÛÛÁõ ïõÁõà¶Ûé •Û¨ÛÛé. 14 

ÜÈÛ• Û© Û   Áõ ï õ ¾Û (`̀̀̀) 

¸ÛäÁõÛé ¸ÛÛ¦éøÅÛ ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û 2,42,000 

…¶ýÛ ïõÁõÛÁõ¬Ûà …Û ïõÁõÛÁõ ¸ÛÁõ ÅÛÛÈÛéÅÛ 
¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û 

50,000 

¸ÅÛÛ¶¤ø (1-1-2015) 60,000 

˜ÛäïõÈÛéÅÛ ¾Û›æ÷Áõà ”Û˜ÛÙ 1,60,000 

˜ÛäïõÈÛéÅÛ …¶ýÛ ”Û˜ÛÛÙ 1,40,000 

¸Ûé¤øÛ ïõÁõÛÁõ¶Ûà ¸Û¦ø©ÛÁõ 40,000 

¾ÛÇéÅÛ ÁõÛéïõ¦ø (¸Ûó¾ÛÛ¨Ûà©Û ïõÛ¾Û 75% ÅÛé”Ûé) 6,00,000 

…ïõÍ¾ÛÛ©Û¾ÛÛ× ¶ÛÛÉÛ ¸ÛÛ¾ÛéÅÛ ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û 2,000 

Í¤øÛéÍÛÙ¾ÛÛ× ¸ÛÁõ©Û ïõÁéõÅÛ ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û 2,000 

ÍÛÛˆ¤ø ¸ÛÁõ ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û (31-12-2015) 10,000 

 31-12-2015 ¶ÛÛ ÁõÛé›÷ ïäõÅÛ ¸Ûæ̈ ÛÙ ¬ÛýÛéÅÛ ïõÛ¾Û ïõÁõÛÁõ Ýïõ¾Û©Û¶ÛÛ 90% ÅÛé”Ûé Ðü©Ûä. ¸ÅÛÛ¶¤ø ¸ÛÁõ –ÛÍÛÛÁõÛé 
20% ÅÛé”Ûé –Û¤ø©Ûà ›÷©Ûà ¼ÛÛïõà¶Ûà Áõà©Ûé •Û¨ÛÈÛÛ¶ÛÛé ™öé. 

…¬ÛÈÛÛ 

4. (a) …éïõ ›Ûé¼Û ¶Û×¼ÛÁõ 2530¶Ûé ÅÛ•Û©Ûà ¾ÛÛÜÐü©Ûà …éïõ ïõÛÁõ”ÛÛ¶ÛÛ¶ÛÛ ¸Û¦ø©ÛÁõ ÜÈÛ½ÛÛ•Û¾ÛÛ×¬Ûà ÅÛéÈÛÛ¾ÛÛ× …ÛÈÛà 
™öé.   7 

  (1) ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û ”Û˜ÛÙ ` 5,000 

  (2) ¾Û›æ÷Áõà ”Û˜ÛÙ (ïõÅÛÛïõþùà¥ø) 

   ÜÈÛ½ÛÛ•Û α ` 2 (150 ïõÅÛÛïõ) 

   ÜÈÛ½ÛÛ•Û β ` 3 (90 ïõÅÛÛïõ) 

   ÜÈÛ½ÛÛ•Û γ ` 4 (60 ïõÅÛÛïõ) 

   ÜÈÛ½ÛÛ•Û φ ` 5 (30 ïõÅÛÛïõ) 
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  (3) ˜ÛÛÁéõýÛ ÜÈÛ½ÛÛ•Û¶ÛÛ ˜ÛÜÅÛ©Û ”Û˜ÛÛÙ ¶Ûà˜Ûé ¾Ûä›÷¼Û …×þùÛ›÷éÅÛ ™öé : 

 αααα    ββββ    γγγγ    φφφφ    

 `̀̀̀ `̀̀̀ `̀̀̀ `̀̀̀ 

ï õ ÛÁõ ” ÛÛ¶ ÛÛ ” Û˜ ÛÙ  24,000 20,000 12,000 1,600 

…Ûñº õ àÍÛ ” Û˜ ÛÙ  24,000 16,000   8,000   800 

ÈÛé̃ ÛÛ¨Û  ” Û˜ ÛÙ  12,000   9,000   4,000   600 

 

  (4) ˜ÛÛÁéõýÛ ÜÈÛ½ÛÛ•Û¾ÛÛ× ïõÛ¾ÛþùÛÁõ ïõÅÛÛïõ ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 

   α 5000 ïõÅÛÛïõ 

   β 4500 ïõÅÛÛïõ 

   γ 3000 ïõÅÛÛïõ 

   φ  500 ïõÅÛÛïõ 

 

  (5) ÜÍ¬ÛÁõ ”Û˜ÛÙ ïäõÅÛ 17,000 ïõÅÛÛïõÛé ¾ÛÛ¤éø ` 85,000 ™öé. 
 

  (6) ÈÛé̃ ÛÛ¨Û Ýïõ¾Û©Û ¸ÛÁõ 50% ¶ÛºõÛé ¾ÛÇé …é Áõà©Ûé ›Ûé¼Û¶Ûà ÈÛé̃ ÛÛ¨Û Ýïõ¾Û©Û¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé.  

 

 (b) ›Ûé¼Û ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û¶ÛÛ ºõÛýÛþùÛ ›÷¨ÛÛÈÛÛé.  4 

 

 (c) ¶ÛÛêµÛ ÅÛ”ÛÛé “ÍÈÛýÛ× ½ÛÛÈÛ ºéõÁõ ïõÅÛ¾Û”. 3 

 

 

5. ¶Ûà˜Ûé …Û¸ÛéÅÛ ¸ÛóÊ¶ÛÛé ¾ÛÛ¤éø ÍÛÛ˜ÛÛé ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõÛé (›÷ÄõÁõà •Û¨Û©ÛÁõà þùÉÛÛÙÈÛÛé) (•Û¾Ûé ©Ûé ÍÛÛ© Û) 14 

 

 (1) ¤ÖøÛ¶ÍÛ¸ÛÛé¤Ùø ï×õ¸Û¶Ûà¶ÛÛ ÍÛ×þù½ÛÙ¾ÛÛ× ¶Ûà˜Ûé …Û¸ÛéÅÛÛ ”Û˜ÛÛÙ ¾ÛÛ×¬Ûà ïõýÛÛé ”Û˜ÛÙ ÜÍ¬ÛÁõ ”Û˜ÛÙ •Û¨ÛÛÉÛé ? 

  (a) Ü¦ø¡öÅÛ  (b) –ÛÍÛÛÁõÛé 

  (c) •ÛéÁéõ›÷ ½ÛÛ¦äø (d) Š¸ÛÁõÛéî©Û ¼ÛµÛÛ ›÷ 

 

 (2) ¸ÛéÍÛé¶›÷Áõ Üïõ¾Ûàþùà¥ø ¸Û¦ø©ÛÁõ ` 0.50 ™öé. ¼Ûé ÉÛÐéüÁõ ÈÛ˜˜Ûé¶Ûä …×©ÛÁõ 100 Üïõ¾Ûà ™öé. ½ÛÛ¦øÛ¶Ûà …ÛÈÛïõ 
¸ÛÁõ ›Ûé 50% ¶ÛºõÛé ¾ÛéÇÈÛÈÛÛ¶ÛÛé …×þùÛ›÷ ÐüÛéýÛ ©ÛÛé …éïõ ¼ÛÛ›ä÷¶ÛÛ ¼ÛÍÛ ½ÛÛ¦øÛ¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé. 

  (a) ` 100  (b) ` 45 

  (c) ` 50  (d) ` 150 
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 (3) …éïõ ÈÛÍ©Ûä¶Ûà ÈÛé̃ ÛÛ¨Û ¸Û¦ø©ÛÁõ ` 3,60,000 ™öé. ›Ûé ¶ÛºõÛé ` 40,000 …×þùÛ›÷éÅÛ ÐüÛéýÛ ©ÛÛé ÈÛé̃ ÛÛ¨Û 

Ýïõ¾Û©Û ¸ÛÁõ ¶ÛºõÛ¶ÛÛé þùÁõ ______ ™öé. 

  (a) 10%  (b) 20% 

  (c) 11%  (d) 12% 

 

 (4) ›ÛÈÛïõ ¾ÛÛÅÛ¶Ûä •ÛÛ¦øÛ½ÛÛ¦äø ______ ¸ÛÁõÛé“Û ”Û˜ÛÙ ™öé. 

  (a) ”ÛÁõàþù  (b) ïõÛÁõ”ÛÛ¶ÛÛ 

  (c) …ÛñÜºõÍÛ (d) ÈÛé̃ ÛÛ¨Û 

 

 (5) …éïõ ÈÛÍ©Ûä¶Ûà ¸ÛóÛ¬ÛÜ¾Ûïõ ¸Û¦ø©ÛÁõ ` 25,000 ™öé. ïõÛÁõ”ÛÛ¶ÛÛ ¸ÛÁõÛé“Û ”Û˜ÛÙ, …ÛñÜºõÍÛ ¸ÛÁõÛé“Û ”Û˜ÛÙ …¶Ûé 

ÈÛé̃ ÛÛ¨Û ¸ÛÁõÛé“Û ”Û˜ÛÙ ¸ÛóÛ¬ÛÜ¾Ûïõ ¸Û¦ø©ÛÁõ¶ÛÛ …¶Ûä’õ¾Ûé 20%, 15% …¶Ûé 10% ™öé. ›Ûé ïäõÅÛ ¸Û¦ø©ÛÁõ 

¸ÛÁõ 5% ¶ÛÛé ¶ÛºõÛ¶ÛÛé …×þùÛ›÷ ÐüÛéýÛ ©ÛÛé ©Ûé ¸ÛéþùÛÉÛ¶Ûà ÈÛé̃ ÛÛ¨Û Ýïõ¾Û©Û ______ ¬ÛÉÛé. 

  (a) ` 36,250 (b) ` 33,750 

  (c) ` 38,062.5 (d) ` 40,000 

 

 (6) ¸Û¦ø©ÛÁõ¶ÛÛ ÜÐüÍÛÛ¼ÛÛé ¾Ûä›÷¼Û ¶ÛºõÛé ` 50,000 ™öé. ¾ÛÛ×¦øà ÈÛÛÇéÅÛ ¸ÛÛ–Û¦øà ` 5,000 ™öé. …¶Ûé ¾ÛÇéÅÛ 

½ÛÛ¦äø ` 5,000 ™öé. ¶ÛÛ¨ÛÛïõàýÛ ÜÐüÍÛÛ¼ÛÛé ¾Ûä›÷¼Û ¶ÛºõÛé  ______ ÐüÉÛé.   

  (a) ` 55,000 (b) ` 60,000 

  (c) ` 50,000 (d) ` 40,000 

 

 (7) ¸Û¦ø©ÛÁõ¶ÛÛ ÜÐüÍÛÛ¼ÛÛé¾ÛÛ× ¸ÛÁõÛé“Û ”Û˜ÛÙ¶Ûà …Ûé™öà ÈÛÍÛäÅÛÛ©Û¶ÛÛ ïõÛÁõ¨Ûé ¸Û¦ø©ÛÁõ¶ÛÛé ¶ÛºõÛé _______ ™öé. 

  (a) ÈÛµÛé 

  (b) –Û¤éø 

  (c) ÜÍ¬ÛÁõ ÁõÐéü 

  (d) …Ûé™öà ÈÛÍÛäÅÛÛ©Û¶Ûà ¼Ûé •Û¨Ûà Áõïõ¾Û¬Ûà –Û¤éø 

 

 (8) þùÁéõïõ ›Ûé¼Û¶ÛÛé ÍÛ¾ÛýÛ•ÛÛÇÛé ______ ™öé. 

  (a) ¾ÛÛÜÍÛïõ  (b) ÈÛÛÜÌÛÙïõ 

  (c) …ÅÛ•Û-…ÅÛ•Û (d) Ü³ù-ÈÛÛÜÌÛÙïõ 
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 (9) ïõÁõÛÁõ ”ÛÛ©ÛÛ¶ÛÛ× ˜ÛÛÅÛä ïõÛ¾Û ”ÛÛ©ÛÛ¾ÛÛ× _______ ¶ÛÛé ÍÛ¾ÛÛÈÛéÉÛ ¬ÛÛýÛ ™öé. 

  (a) ¸Ûó¾ÛÛÜ¨Û©Û ïõÛ¾Û + Ü¼Û¶Û¸Ûó¾ÛÛÜ¨Û©Û ïõÛ¾Û 

  (b) ¸ÅÛÛ¶¤ø¶Ûà …Û”ÛÁõ ¼ÛÛïõà 

  (c) ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û¶Ûà …Û”ÛÁõ ¼ÛÛïõà 

  (d) Š¸ÛÁõÛéî©Û ¼ÛµÛÛ ›÷ ÜÈÛïõÅ¸Û 

 

_____________  
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Seat No. :  _______________ 
  

AL-118 
April-2016 

B.Com., Sem.-IV 

CE-203 : Advanced Accounting & Auditing  

(Cost Accounting – 2) 
 

Time :  3 Hours]  [Max. Marks : 70 

Instructions : (1) All the questions are compulsory. 

   (2) Figures to the right indicate marks. 

   (3) Show all the necessary calculations as a part of your answer. 
 

1. NEIL Ltd. has produced and sold 1000 units at 50% capacity during the year 2015. The 

costing details for 31-12-2015 are as under : 14 

Particulars Amt. (`̀̀̀) 

Materials  5,00,000 

Direct wages 3,00,000 

Direct expenses 1,00,000 

Factory overheads (50% variable) 2,00,000 

Office overheads (fixed) 1,50,000 

Selling-distribution overheads (40% variable) 1,00,000 

Sales 16,20,000 

 Estimate for the year 2016 are as under : 

 (1) Output will be at its full production capacity of which 80% units will be sold. 

 (2) Cost of raw materials and wages per unit will increase by 20% and 10% 

respectively. 

 (3) Fixed expenses will increase as under : 

 `̀̀̀ 

Factory 50,000 

Office 40,000 

Selling-distribution 20,000 
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 (4) Variable selling expenses will increase by 25% per unit. 

 (5) Profit on cost will remain unchanged. 

 Prepare a current year Cost Sheet and a Tendered Cost Sheet of 2016 from the 

following information : 

OR 

 Utsav Limited sold all its production for ` 7,20,000 during the year 2015. The cost per 

unit of the company for the first year was as under : 14 

Particulars Amt. (`̀̀̀) 

Materials expense 60 

Wage expense 50 

Direct expense 10 

Factory overheads :  

 Fixed 8 

 Variable 7 

Office Overhead :  

 Fixed 15 

Sales Overheads :  

 Fixed 7 

 Variable 8 

 165 

 + Profit 15 

 Sales 180 

 Out of total production capacity 80% of production was done in 2015. 

 (1) During the first half of next year the production will be 80% of capacity and for 

the later half of next year production will be 100%. 

 (2) There will be 10% increase in all variable expenses and 20% increase in all fixed 

expenses.  

 Prepare a Tendered Cost Sheet estimating 33
1

3
% profit on sales price. 
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2. The following is the Trading and P/L A/c. of Naval Ltd. for the year ending on            

31-3-2016.   14 

    Dr.                                                                                                                                   Cr. 

Particulars Amt. (`̀̀̀) Particulars  Amt. (`̀̀̀) 

To  Materials 7,00,000 By Sales (2000 units)  16,26,000 

 " Direct labour 

 " Factory overheads 

4,80,000 

2,20,000 

 " Finished goods  

      (500 units) 

 2,74,000 

 " Gross profit 6,00,000  " Work in Progress :   

   Material 50,000  

   Labour 20,000  

   Factory overheads 30,000 1,00,000 

 20,00,000   20,00,000 

To Administrative  

      overheads 

 

1,40,000 

By G.P. b/d. 

" Brokerage 

 6,00,000 

40,000 

" Sales-distribution 

overheads 

30,000 " Profit on sale of  

 Investments 

  

10,000 

" Goodwill written off 8,000    

" Debenture interest paid 22,000    

" Net profit as per P/L A/c. 4,50,000    

 6,50,000   6,50,000 

 The following information has been obtained by investigating the cost records : 

 (1) Material and wages are charged at actual cost. 

 (2) Factory expenses have been allocated to the production at 50% of direct wages. 

 (3) Administrative expense have been charged at 10% of factory cost. 

 (4) Sales-distribution expenses have been charged at ` 10 per unit on units sold. 

 From the above informations : 

 (i) Prepare the Cost Sheet showing profit/loss. 

 (ii) Prepare the statement reconciling the profits as per Cost Sheet and Profis as per 

P/L A/c. 

OR 

 (a) State the reasons for disagreements in the profit as shown by Cost Accounts and 

that shown by Financial Accounts. 7 
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 (b) Financial accounts of Farhan Ltd. reveal 4  

 `̀̀̀ 

Office Overheads 1,65,000 

Selling overheads 72,000 

Net Profit 80,000 

  Office overheads in Financial Accounts are 10% higher in comparison of Cost 

Accounts and selling overheads are 10% lower.  

  What will be the profit as per Cost Accounts ? 

 

 (c) How is finished stock and work in progress stock valued in Cost Accounts and 

Financial Accounts. 3 

 

3. “Aran” Transport Company supplies the following information in respect of a truck of 

5 tonne capacity : 14 

Cost of Truck `  20,00,000 

Life of Truck 10 years 

Scrap value 10% 

 Diesel oil etc. ` 1,200 per trip each way. 

 Repairs & Maintenance  ` 5,000 p.m. 

 Salary : Driver ` 20,000 p.m. 

   Cleaner ` 8,000 p.m. 

   Insurance ` 1,00,000 p.a. 

   Taxes  ` 50,000 p.a. 

   Sundry expenses ` 18,000 p.a. 

  

 The truck carries goods to and from a city covering a distance of 150 km each way. 

Daily 2 round trips are taken and the truck runs 26 days a month. Freight is available to 

the extent of full capacity on outward trip and to the Extent of 60% capacity on return 

trip.  

 Calculate the operating cost per tonne km run. 

    OR 

 (a) Write a short note on Hotel Costing. 7 
 

(b) No. of Vehicles Specifications 

 40 5 tonnes 

 50 6 tonnes 

 60 7 tonnes 

  On an average each truck makes 5 trips in a day. Each trip covers a distance of        

10 km. Each truck carries weight which is only 70% of the capacity. On an 

average 20% trucks are laid up for repairs every day.  

  Calculate the tonne km per month for the month of April, 2016. 4 



AL-118 13 P.T.O.  

 (c) State the unit of cost for 3 

  (1) Adani Gas Company 

  (2) May Flower Hospital 

  (3) Adlabs theatre 

 

4. Vivek Thakker of Thakker Construction Company took a contract worth ` 10,00,000 

on 1-1-2015. From the following information calculate the cost of work uncertified. 

Also calculate the profit to be transferred to P/L A/c. and work in progress on 2/3
rd

 

Profit basis by preparing a detailed Contract Account. 14 

Particulars (`̀̀̀) 

Materials issued 2,42,000 

Material transferred from other contract 50,000 

Plant issued (1-1-2015) 60,000 

Wages paid 1,60,000 

Other expenses 1,40,000 

Cost of sub-contract 40,000 

Cash received (75% of work certified) 6,00,000 

Material destroyed due to an accident 2,000 

Material returned to stores 2,000 

Material at site (31-12-2015) 10,000 

 Total work completed on 31-12-2015 was 90% of contract price. Depreciation on plant 

to be charged at 20% p.a. on reducing balance method.  

OR 

 (a) Following information regarding Job No. 2530 is obtained from the cost records 

of a company.  7 

  (1) Cost of materials ` 5,000 

  (2) Cost of wages (per hour) 

   Dep. α ` 2 (150 hours) 

   Dep. β ` 3 (90 hours) 

   Dep. γ ` 4 (60 hours) 

   Dep. φ ` 5 (30 hours) 
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  (3) Variable expenses of four departments are categorized as under : 

 αααα    ββββ    γγγγ    φφφφ    

 `̀̀̀ `̀̀̀ `̀̀̀ `̀̀̀ 

Factory expenses 24,000 20,000 12,000 1,600 

Office expenses 24,000 16,000   8,000   800 

Sales expenses 12,000   9,000   4,000   600 

 

  (4) Labour hours for these four departments are as under : 

   α – 5000 hours 

   β – 4500 hours 

   γ – 3000 hours 

   φ  – 500 hours 

 

  (5) Fixed Expenses are ` 85,000 for 17,000 hours. 

 

  (6) Calculate the selling price of Job No. 2530 to earn 50% profit on sales 

price. 

 

 (b) State the advantages of “Job Costing”. 4 

 

 (c) Write a note on “Escalation Clause”. 3 

 

 

5. Choose the correct option from the given options.  14 

 (Show necessary calculation wherever required)  (any seven) :  

 

 (1) Which of the following expense will be considered as a fixed cost from the view 

point of a Transport company ? 

  (a) Diesel (b) Depreciation 

  (c) Garage rent (d) All of the above 

 

 (2) Cost per passenger km is 0.50 paisa. Distance between two cities is 100 km. 

Expected profit is 50% on freight. What will be the one way bus fare ? 

  (a) ` 100  (b) ` 45 

  (c) ` 50  (d) ` 150 
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 (3) Cost of sales is ` 3,60,000, Profit earned is ` 40,000. The percentage of profit on 

sales is  

  (a) 10%  (b) 20% 

  (c) 11%  (d) 12% 

 

 (4) Carriage outward is a/an  

  (a) Purchase overhead (b) Factory overhead 

  (c) Office overhead (d) Selling overhead 

 

 (5) Prime cost is ` 25,000. Factory overhead, office overhead and selling overheads 

are 20%, 15% & 10% of Prime Cost. If profit of 5% on total cost is to be earned 

the S.P. of the product will be 

  (a) ` 36,250 (b) ` 33,750 

  (c) ` 38,062.5 (d) ` 40,000 

 

 (6) Profit as per Cost Account is ` 50,000, goodwill written off is ` 5,000 and rent 

received is ` 5,000. The profit as per Financial Accounts will be  

  (a) ` 55,000 (b) ` 60,000 

  (c) ` 50,000 (d) ` 40,000 

 

 (7) Due to under recovery of overheads in Cost Accounts the profit of the Cost 

Accounts  

  (a) increases 

  (b) decreases 

  (c) remains constant  

  (d) decreases by double the amount of under recovery 

 

 (8) Time Limit for every job is  

  (a) Monthly (b) Annual 

  (c) Different (d) Bi-annual 

 

 (9) Work in Progress Account in Contract Account includes 

  (a) Work certified + work uncertified  

  (b) Cr. bal. of plant 

  (c) Cr. bal. of material 

  (d) All of the above 

 

_____________ 
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